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Gr10 Review — Linear Graphing Review Date:

Key Ideas:

A linear relation is an equation that relates two variables together (usually x and y)
where the variables are of degree 1. Graphing a linear relation createsa LINE |

Circle the linear relations:

One of the most effective ways to graph linear equations is to get it into the form
y=mx=tb.

misthe SLOPE  and can be represented as —‘%
b is the %’\MTE’RCEPT and tells you where ‘&\b line crosses the j’w‘S

Example — State the slope and y-intercept of y = —%x + 4. Then graph it.
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What is a common trait of each point on the line?
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Example —Graph 2x — 3y =6
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Visibly, what is the difference between a positive and negative slope?
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LL [ - Solving Systems of Equations Graphically

Linear-
Quadratic

A Linear-Quadratic System of Equations is a linear equation and a quadratic equation
involving the same two variables. The solution(s) to this system are the point(s) where the
line intersects the parabola (if it does at all).

Draw pictures to represent the possible number of solutions that a linear-quadratic
system can have:

| ? NVONE

Example 1 — Solve the following system of equations graphically:

1) 4x—y+3=0
2) 2x%2+8x—y+3=0
a) Get the linear equation into y = mx + b form and graph.
b} Complete the square and graph the quadratic equation.
¢) Identify and write down the points of intersection (the solution).

d) Verify the solution by checks. v
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Quadratic-
Quadratic

Quadratic-
Quadratic

Example 2 —Is (5, 7) a solution to the system 1) 3x2 — 10y =5and2)—y=x—-117?
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A Quadratic-Quadratic System of Equations is two quadratic equations involving the same
variables. The solution(s) to this system are the point(s) where the parabola intersects the
other parabola (if it does at all).

Draw pictures to represent the possible number of solutions that a quadratic-quadratic
system can have:

NONE
Example 3 -Solve 1) 2x2 —8x + 7~y =0 and 2)y +x2 —4x+2 =0
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Example 4 — Solve the systemy —x? +4 =0 and —2y + 2x* -8 =0
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LI,Q— Solving Systems of Equations Algebraically

Linear-
Quadratic

substitution

Ko+ —10x 420 =0

For a Linear-Quadratic System of Equations, what are all the possible # of solutions?

O,1,2

Solutions can be found graphically, as in Section 7.1, or aigebralcally, using either

substitution or elimination.

Example 1 - Solve the following linear-quadratic system using substitution:

1) 3x+y=-9
2) 4x?>~x+y=-9
a) Solve the linear equation for y.

b) Substitute the linear equation for y in the quadratic equation.
c) Solve the quadratic equation by factoring (if you cannot factor, use the quadratic

formu!a)

d) Substitute the resulting x value(s) into the original linear equation to determine the

corresponding y values.

a) 5 — ("}:_;_L:_“A] }

/

b &c) 5"’ Cax -9
“3x-9= -4
Hy’-t4x =0
Hx (x-) =0
x =0, |

d) 3.3.( +3=—C1

A=0 2= |

3(0) ¥y=-9 3('\)+3“"‘*
y=-9 Y=-12

(0)"1) (ljbll)

Example 2 Solve by substitution: 1) 5x —y = 10 and 2)x? +x — 2y = 0

X*-qx + 20 =0
(x ~S)b(~‘+) i
L=5,Y
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Now, solve the same system using elimination:

elimination
1) 5x—y=10
2) x2+x-2y=0
a) Align the terms with the same degree. Since the squared term is the variable x,
eliminate the y-term.
.. b) Multiply.one or more of the equations if necessary to have the same coefficient for y.
c) Add or subtract the two equations to eliminate y.
d) Solve the resulting quadratic equation by factoring or the quadratic formula to find
the x coordinates of the solution(s).
e) Substitute the resulting x value(s) into the original linear equation to determine the
corresponding y values.
B @ ie-2 (x-8)(x-4)=0
+ X - 3 =
O (5x-y= loﬁxl x=5u4
“y = =0 ©® Sxy=1°
® X +x-2y= O Sx-y -
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1—~ﬁ1 = -20 \:]:1&' y=10
‘)(3‘—01’1,“’2’0 =1 \ (S,\S> (4)\0)
Quadratic- For a Quadratic-Quadratic Systems of Equations, what are all the possible # of solutions?
Quadratic
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Example 3 — Solve the following system first by substitution, then by elimination.

1) 6x2—x—y=-1
2) 4x*—4x—y=—6

Substitution: Elimination:

CDS @ x+IJ ; x=)"% 6x2—x—y=-1
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Example 4 — A Canadian cargo plane drops a crate of emergency supplies to aid-workers
on the ground. The crate drops freely at first before a parachute opens to bring the crate
gently to the ground. The crate’s height, k, in metres, above the ground t seconds after
leaving the aircraft is given hy the following twe equations. h = —4.9¢2 + 900 represents
the height of the crate during freefall. h = ~4t + 500 represents the height of the crate
with the parachute open.

“a) How long after the crate leaves the aircraft does the parachute open? Express your answer
to the nearest hundredth of a second.

b) What height above the ground is the crate when the parachute opens? Express your
answer to the nearest metre.

c) Verify your solution.

The answers +o o and b C{r&min\krsec;}iam of the two
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Ll,.,gA— Linear Inequalities in Two Variables

Warmup

steps

How do we read these inequalities (from left toright)? 5>2 3<-1
5s gm{zf Hin 2 -3 i Jess Hhen ~|
What does each symbol mean? >

< > : <
er .— ~
- Greafer thaa ‘fc:r#w ‘%ﬁ?wﬁwf;n Jese 1‘:31 L
How do you say this aloud? xz4 =)
Z i 9rf.-n‘cfa“&pux or e,?w.l fo U i
What are some possible answers?
L 4,5,6,19, k.-
What is the primary difference between an equation and an inequality?

Anequativn has ene lor two) solufrons whereas ain mu(«ﬂﬂfj
has a rqnoe or soluftons.

-

Example 1 - Solve the following inequality: 3x—7_’< -5 -%y_kfy_
+7 +7 =
z
Ax<L2L =z
Example 2 ~ What are some possible answers to -2x<67?  {hewn mu IHI‘{:]""*:; or chiviling
-2,-1,0,1,2,3, Y, et i T e oty sides kj a Wegative,

Flip) ¢
X>-3 ‘(‘Iii:» Hue '““"i““l"l-a Tegn
How is solving an inequality like solving an equation? How is it different?

'S‘;.'\Ve an inexlualndy _!uﬂ- l(\w. Huu Lbl.‘.-l-klfl. S.Q\\rf un @‘{LLGCHQq QKCQ{J"I‘ ‘IF muH .
5{1\}\&\\’5 L:n ﬂn Sidas }Jj @ m?ijtt'h\o‘{- nuNL,_,_," »P'“f, ‘ﬂ/\Q S::'jn .

Find some solutionsto 3y — 2x = 6
(21'0) (_2)‘) ol L0 on .-
(7,2) (-10,0)

There is a more efficient way to find the range of solutions for the inequality above.

1. Rearrange the inequality so it’s in mx + b form. Don’t forget to flip the inequality if you
multiply or divide by a negative number.

2. Decide whether to use a solid line or dotted line:

o If the inequality is < or 2, points on the line are included in the solution (due to the
‘equals to’ line under the sign), so we keep the line solid.

o Ifthe inequality is < or.>, points on the line are not included in the inequality, so we
draw a dotted line,

3. Graph the line using slope and y-intercept. The line is called the boundary.

4. For y > mx + b or y = mx + b, solutions to the inequality are all of the points above the
line, so shade above. Fory < mx + b or y < mx + b, shade below the line. The shading
represents the solution region: all of the points that satisfy the inequality.

5. CHECK: Pick a test point in the shaded region and test its coordinates in the inequality.
If it satisfies the inequality, you've been successful. If it doesn’t satisfy the inequality, you
either shaded the incorrect region, or the boundary line has been graphed incorrectly.



Example 1 - Solve the inequality by graphing 3y —2x > 6.
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*When you read an inequality for shading purposes, it must be in y = mx + b form!

Example 2 — Solve 4x — 2y > 10. Determine if (1, 3) is part of the solution.
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4.3 B- Systems of Linear Inequalities in Two Variables

A system of linear inequalities is; Mul-]-;P)\.g, };aum}d,a Jines 911.(/,}‘20( )Lﬂjt,#\ar

with q shaeled rep/on that sahsBes all f‘ﬁequf‘f/véj

Example 1 -Solve the system:y > 2x + 5and y < —x — 5
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=4 l\aolb PELOW {7 'r,l-'[ l,? 4 3
VYK B
lA pAIe S
R S S
Wi 3
VALl =
I-'H]" 2 ‘
N

Pick one possible solution and perform a check:
(i) 0022605 gy s
0 Tf/“b O<—(-4)-S
o<4

Example 2 - Solve the system: 3x + 2y > —6and -3 <y < 3

@ 21,»'426> —b i i

23 > b

yz 223 Posuceiseis: H
1285 B 0 5 B
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STEPS: 1. Rearrange each inequality into mx + b form.
2. Graph each line, using dashed (>, <} or solid (2, <) lines.

to find out wiiat it is, or redo the question.

3. To find the solution region (shaded region), look to see whether to shade above or below the
first line, then above or below the second line {read the inequality in mx + b form).

4. Check your solution by picking a point in your solution and testing it in each of the two original
inequalities. It must satisfy both inequalities. If it doesn’t, an error was made at some point, so try

Example 3 — Solve the system of linear inequalities

x=-3, y>—4, y>2x—4, x+6y <15
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Oxz-3 @ x+6y218

~So ik (,3 £-xXH¥is

o I I

-vort ling of % =2 H,f%x*%

~shade Ri6HT
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Example 4 — Write the system of inequalities for the following solution set.

o 553 | ., | ol
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word
problem

Example 5 —The Canucks have 8 games left to play and need 10 points to make the
playoffs. A win is worth 2 points and an overtime loss is worth 1 point. Write and graph a
system of linear inequalities to see all the possible ways the Cagucks can make the

playoffs,

Letx = 4 of Wwing
ety = # o overtime |oges

inequalities:
O x Y £%
® 27,4-\\5 =)0
@ ox z0 Verhwl e, cold,
. shode RiGHT
@ H? o l'lori?/}ﬁu) Selid,
Shado #BOVE
rearranged:
£ x4
@ 5 = x+&

Soh‘al, Shade BELOW

@ Yy 22 +\0
@nh‘v‘, shade. fBoVE

®

0
<
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N

74

A

Ways to make the playoffs:

(2,6) & LZwins, boT losses
& [o) PB

(4,3) 9 Gonms, 3oTlosses
=l phs,

Al auswers ’)DS&H&"

(2,6) 39) BS) (42) (42 (4.9
(50) (5,0 (52) G (es0) (61
(6i2) (o) (1) (3,0)




L

Lf.,"lA — Graphing Non-Linear Inequalities in Two Variables

steps

Example 1 —- Solve the inequality by graphing y + 2 < (x — 4)2.

1. Rearrange the inequality so y is all by itself on one side.

2. Decide whether to use a solid curve or dotted curve:

3. Graph the parabola using standard form. The line is called the boundary.
4.Fory>ax?+ bx & cory>ax? + bx + c, solutions to the inequality are all of the
points above the parabola, so shade above. Fory < ax? + bx + cory<ax? + bx + c,
shade below the parabola. The shading represents the solution region: all of the points
that satisfy the inequality.

5. CHECK: Pick a test point in the shaded region and test its coordinates in the inequality.
If it satisfies the inequality, you’ve been successful. If it doesn’t satisfy the inequality, you
either shaded the incorrect region, or the boundary curve has been graphed incorrectly.

U oy< (e-uy-2 i e
N H
2) dotted B E L ==
3) ﬁ<(x—q)1—l :# - L
verfex O"‘)\Z) EEEE = : ‘1 =
o= \ -+ R : }
g Ti"- :'d N R == m:ﬁim
- PEE G ENR I =
4 Y< (x-¥)*-1 R ENERER=Z
N . o
Vess $han = shade below e ‘ i e =
5) (0,0): p<L{o-¥-1 NEECANEEANEE N ==l
0 < 16-2 AP T e e T
o<1t v/ Ly 1 !

Example 2 — Solve by graphing:y < —x2 + 2x + 4. 1s (-1, i) a solution? Is (2, 5)?
55(’j12+29()4-‘+ i .
y< -G et T :
5&‘—(1’-«211'14)*‘1 \ :

£ _(x2ax v+ 1HH on qraphs A‘

‘ B
ys —(x-1P+5 ) (_Il“Pn'" S e RN EREENcEEs snnn Rl
Veriex (15) e, : e
a= | - (2,6) sNoT T SSE=a) T
ERENE =xa

- $olid line L] IF *, - = ‘ ARREEE
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Example 2 - Solve by graphing: y + 5 = x% — 4x and y < —31-(x ~2)?

0 3?%2‘—%'&* -4,-2 i e
B 2
> - t4-4 -5 VH |G /
et et k —.t

Y= (x-)*-9 ‘.

vartex (2,-%) :

e | 1 2
ok ne 2 SRR X W
Shade ABOVE b

(©; H<J_5;(I~1Y’ . g (

verfec (2,0) mrma

a=4
Aashed
shade BELow



Example 1 — Solve x2 4 2x > 8 by graphing, and then using test intervals. Graph the
solution on a number line,

1: Get everything to the left side so that zero is on the right.

2. Find the roots (x-intercepts). '

3. Sketch a graph and use the visual to solve the inequality.

- if the quadratic is > 0, find the domain where the graph is above the x-axis
- if the quadratic is < 0, find the domain where the graph is below the x-axis

Graphing
Steps

J

;11) X4 -8 >0 I TTETTAY

|2 (x+4)(e-2) EEEE| 3 .
Xx=-%, % = :

ol o

ol el ad o

3) X -inds ﬂ -4 ) 'l_/-fuﬂwla opent U |
Y 42x-8 >0 ‘ .
Wheee < Jhe eaul-cl«l};gws He gyraxes ' _ -

1< and 15225

= | 2 N o

ﬂp.‘

il &

Test 1. Find the critical numbers (the zeros) of the inequality.
2. Make an x-axis diagram of the resulting test intervals.

Interval )
3. Test a value from each interval using the original inequality.

Steps .
1) X*+2x-¥ > O 2) @)
1 - 1 d=l

(2 5u)(x-2) I A
CJ‘I'{' ()_}5 aie “’Li'. 1 I TR o 1
3@ Test -5 @ Test o @ dest 3 | < -1
- — T aen] X 5
(-SY+ 2 -8 >0 )+ 200 -¥ >0 (3 2(3) ¥>0
1 -6 ~% > © ~¥>0C q+b--8>a p Ayl

- 1>0
7> 0 :
/ >< .\/
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Example 2~ Solve x2 — 10x + 16 < 0 using both methods and graph the solution on a
number line

_ " *if the quadratic is > 0, find the domain where the graph is above or on the x-axis

*if the quadratic is < 0, find the domain where the graph is below or on the x-axis
Graphing:

W-10x+{L <0
(7(’.?)(,76-—?_)
xX=%,7

A5 - 10sc+ b £ 0O T
Sl oI _ _

[Whore s the FML”L‘ "%“}“’ e x axas s = EEELES
A e

{

T

A20 So ofe:\c “p

: R i
%

Colufon: 25 €Y
Test Intervals: é_?_zi‘;—)
X-10x+bs0  OTesto: sty @) o5t 9-
| (=8) e C0-P@ L0 Ao ¥IbEO g2 o)y jbto
Cribal {; are 8,2 lb<0 b-H4o+16<0 g qpy[pec

§< ‘?S‘-f,o T <o
e |® | ‘//\1 X

L,,Awm 2und & 2232

Example 3 — Graph the quadratic function f(x) = x? — 6x + 9. What is the solution to:
aA)x’—6x+9>0 b) x> ~6x+9>0 ¢ x%2—6x+9<0 d x2—6x4+9<0
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Above oi on e ""\‘J oA 3 U EEBEEE b
Soluhon® X ER Coluthon * X=3 :
Do @ xxerraco :
Above X Axis belou x bss
- extphare gt 3 - o e

' S‘ulwh"n s ,d
SoJwhon® LES e 1ol

i TR




Example 4 = Solve x®> — 2x > 2 . Then graph the solution on a number line.

1>-2x-2 > O
Cannot ﬁdor So Wse qu.ﬂwlrwhc ‘&rmu‘&‘-
6=, b=-2,c=-2
ebt [T = 220D | o e
1“ 2(1) 74
= 2ef - 22205 |23 - 273, -oma
T o V{3 \ £ b=
P 2 ,;\% ;)«
SO \ I nR
x>0 se o‘)e,m ag . »”- T ?7
;(. 7)L*‘2 > O I /
Whee 1s %er\.ola I%BGU"HMIWS MENN N _@ﬁ 1,
e \-IF, x> 13 ,,
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L{o 5 — Applications of Systems & Systems of Inequalities

Lok 2= smaller namber
Let Y= kur)u A bees”

(/1+3 %)x5
OC‘L ?)v; OB <

() 2>
ot

AxFF3x-324 =0
2 =2+ 2T -3 =0
2x(x-12) + 27 (x-1) =0

(141)(214517):0

-—@H = |86
_3x tby =138

2x* 4-37; = el
IE+3x-324 =0

Lekx = # of cars
Le:('& =4 0{'\ '}‘mcu
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Example 1 — A certain website offers online interactive puzzles, but the puzzle-makers
present the following problem for entry to their site. "Determine two integers such that
the sum of the smaller number and twice the larger number is 46. Also, when the square of
the smaller number is decreased by three times the larger, the result is 93. By determining
the smaller and larger numbers, use it as a password to gain access to the site.

The two

|nteqers
e
12 anol 17

Example 2 — A parkade can fit at most 100 cars & trucks on its lot. A car covers 100 sq feet
and a truck 200sq ft of space on a lot that is 12 000 sq ft. What are all the possibilities of
cars & trucks that can be on the lot at any one time?

Dne possible solwhon (T0,20)
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Example 3 - The height in metres of a projectile shot from the top of a building is given by

h(t) = —16t% + 60t + 25, where t represents the time in seconds the projectile is in the
air.

a) Find the time the projectile is in the air before hitting the ground, to the nearest

thousandth.
b) Find the time interval that the pr_Jectlie is above 25m, to the nearest hundredth.

@ M‘%)'-lét + 601 +2C O () =-l6t*t60t 25

- alc %
O = —|it>+ b0t 12§ b +bot 126 >28  Test I%‘” ‘@
el (eaC ~pt*+p0t >0 | @ . 5
0=-16, L=£0, c=4 i) 4 :
- st)>o (£3
bt Sl HmEn |l ° -
1’ R : lf- -) I‘. @-h" -{: l «
.2(-I0 + Wi _n2os- <o TL\.& bd/‘ 31
HEN-TOD above 2854
2= ~b0 * 5300 pilst <o | hgsie e
—32 't(Lf‘L'"'g) <P — - ckaEs
Y = 3) $#128 ’IS W{1y? 1S(y) 40
"aw t=0, Y~15 <o < LS
The projectle i 1n Y 415620 ol G lpeee 5o
i Tor W )28s. whgcagw%{’f-;:u* q(qz’qlsé?ég X ‘
Example 4 — The price a stereo will be sold for is given by S(x) = 200 — 0.1x,

0 < x < 2000, where x is the number of stereos produced each day. It costs $18 000
per day to operate the factory and $15 for material to produce each stereo.

a) Find the daily revenue. (b) Find the daily cost of producing stereos. (c) Find the interval

that produces a profit. = -|8S * \{(Tgs)l_ Y¥(-o. ) (-18009)
Resansee = sold) price)

2 [-e0)
R6A) = x(200-01 %) x= 103.04, T4l
R(x)* 200%- 0.\ % Tost Tuderal o
® ch = |Sx 118000 P © e
..... 103.04 )
’OP(I) RGO —Co) Bypst 17

P(x)= 200x - 0.\ x> = () ot tifoed

P(x) = 0.} x> +18Ex ~18 00D

—p (T +ES() ~|lgooo(3)>0
—p.| y\8S-180c0 >0

Solubon:

|0L}<x<\‘7‘+l)
~0.)x* +18 §x - 18 000 > O

a= 0.1, b=185, c= 1§ oe0
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